27. OXYMORONS

Answer each clue with a two-word phrase in which the two words are opposites of
each other.

Ex. Weighty lantern hg 2 y% | ¢ 9 ht

Lowermost spinning toy

Moonshine machine that makes a racket

Makes betting probabilities equal

Leisurely refusal to eat food

Fairly hideous

Particular four-star officer

Not many realty units
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Four-sided leg joint

©

Hunky-dory psychiatrist

10. License to run a tavern

11. Very natty-looking apartment

12. Concealed expanse of flat land
Rating Good: 4 Excellent: 7 Ace: 10

| 28. CARNIVAL SIGN

An advertisement for a traveling carnival is painted on the wall of an old barn. But
some of the paint has peeled off, making a few of the words difficult to read. Here’s
one of the words that onlookers are having trouble with:

CPCIFSCJL

What word is it? Here is a hint: The F in the middle can represent itself, or it can
be an E without the bottom stroke. The answer is an adjective that might describe
one of the carnival acts.




